
A

Each member of IMT works independently.

Select the segment which is the most likely to contain the missing person, and assign it value of 100.

Then assign a value between 1 and 100 to all the other segments, depending on how likely the missing person is in that segment, compared

to the most likely segment  of 100.

Transfer their scores to the table below.

Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg

A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 A17 A18 A19 A20

Jim 10 10 20 100

Bob 20 10 100 80

Billy 10 10 100 90

                             

                             

Column Totals 40 30 0 220 270 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 560

Consensus POA 7.1% 5.4% 0.0% 39.3% 48.2% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% %

33%

Then POA for each segment

Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg Seg

A1 A2 A3 A4 A5 A6 A7 A8 A9 A10 A11 A12 A13 A14 A15 A16 A17 A18 A19 A20

2.4% 1.8% 0.0% 13.0% 15.9% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0%

Password = landsar

Participants 

Name

Sum of 

Column 

Totals

For segmented region

Enter Original % POA for region A


